1.What is the full form of ICLED?

[A] Inter-band cascade light emitting device

[B] Interior-based cascade light emitting diode

[C] Intern link- band inter-band cascade light emitting
[D] None of the above

2.Mobile Integrated Network Terminal (MINT),
which was making news recently, is associated with

which organisation?
[A] RBI

[B] PFRDA

[C] Indian Army

[D] Indian Coast Guard

3.Threadit is a standalone website created by which
tech major?

[A] Intel [B] Microsoft

[C] Apple [D] Google

4.New bacteria found in the ‘International Space

Station’ has been named after which Indian scientist?
[A] Jagdish Chandra Bose

[B] APJ Abdul Kalam

[C] Ajmal Khan

[D] CV Raman

5.A massive data leak has been witnessed by which

social networking giant, recently?
[A] WhatsApp [B] Orkut

[C] Twitter [D] Facebook

6.“COVIRAP’ technology has been developed by
which institute?

[A] ALIMS [B] MIT

[C] IIT Kharagpur [D] NIT Trichy

7.With reference to a recent NASA project, what does
“M” in MOXIE stand for?
[A] Maintained [B] Minimum

[C] Maximum [D] Mars

8.By what name is the full moon on April 26th this year

called?
[A] Big Moon [B] Pink Moon
[C] Great Moon [D] Gigantic Moon

9.What is Patania II, which was seen in the news
recently, for being stranded on the Pacific Ocean

floor?

[A] Container Ship
[B] Submarine

[C] Mining Robot
[D] Satellite module

10.What is ‘Mayflower 400°, which was making news

recently?

[A] Mining Robot

[B] Artificial Intelligence Ship
[C] Solar Probe

[D] Vaccine Delivering Robot
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11.The tendency to continue to surf or scroll through
bad news, even though that news is saddening or

depressing, is called?
[A] Bad Surfing

[B] Doomsday Scrolling
[C] Internet addiction
[D] Extrovertism

12.0keanos Explorer, which is set for Deep-sea

Exploration, is a part of the mission of which country?
[A] Israel

[B] USA

[C] Russia

[D] Japan

13.Which type of mosquito, when infected with the

virus, is the main reason for spreading Dengue fever?
[A] Culex

[B] Aedes

[C] Marsh

[D] Mansonia

14.STARFORGE, which was making news recently, is

[A] Satellite
[B] Simulation of stars
[C] Unmanned Aerial Vehicle

[D] Satellite Launch Vehicle

15.Which institution has launched the world’s first
satellite-based global coral reef bleaching monitoring

system?

[A] SpaceX

[B] Allen Coral Atlas

[C] Oxford University

[D] Blue Origin

16.What is the clinical name of Black Fungus?
[A] Tinea corporis

[B] Mucormycosis

[C] Cutaneous candidiasis

[D] Onychomycosis

17.The full moon of which month is usually referred

to as the ‘Flower Moon’?
[A] April

[B] May

[C] June

[D] July

18.Which molecule is the genetic material of the

SARS-CoV-2 virus?
[A] DNA

[B] RNA

[C] Both the above

[D] None of the above
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19.Hubble Space Telescope has captured a detailed
photo of NGC 691, a .............

[A] Galaxy

[B] Meteor

[C] Cloud

[D] Exo-planet

20.The recently reported H10N3 is a strain of __:
[A] Bird Flu

[B] Corona virus

[C] Anthrax

[D] Swine Fever

21.As per a recent NASA study, ‘Nuisance floods’ will
occur frequently in 2030, due to the wobble in the
orbit of which satellite?

[A] Moon

[B] Titan

[C] Phobos

[D] Deimos

22.Which two countries collaborated recently to
develop rapid testing for COVID-19 in under 30

seconds?

[A] USA & UK

[B] India & UK

[C] India & Israel

[D] Germany and Italy

23.Which organization is the host of Imagine Digital
2021 which began on 11 August?

[A] UiPath

[B] Nvidia

[C] Automation Anywhere Inc
[D] Microsoft Corporation

24.In which State/UT, the foundation stone of
Innovation and Development Centre of Jawaharlal
Nehru Centre for Advanced Scientific Research has
been laid?

[A] West Bengal
[B] Gujarat

[C] Kerala

[D] Karnataka

25.Recently, which organization has launched 34
satellites?

[A] ISRO
[B] Space X
[C] NASA
[D] OneWeb

26.What is the name of the first ‘Quantum Computer
Simulator Toolkit’ of India?

[A] Bharat SIM

[B] QSim

[C] ComSim

[D] None of the above

27.Which organization has launched “Project Udaan”
on the occasion of Hindi Diwas?

[A] IIT Guwahati
[B] IIT Bombay

[C] IIT Gandhinagar
[D] 1T Delhi

28.Researchers from which organization have
designed a device that can generate electricity from

raindrops?

[A] IIT Kharagpur
[B] IIT Delhi

[C] DRDO

[D] ISC Bengaluru
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29.Tycho Crater, which was seen in the news recently,

is located in which space body?

[

[B] Moon
[C] Jupiter
[

D] Venus

30.Which organization has developed an indigenous

charger for electric vehicles named AC001?

[A] DRDO

[B] ISRO

[C] ARAI

[D] CSIR

31.Lucy Mission, which was seen in the news recently,

is associated with which space agency?

[A] ISRO
[B] NASA
[C] Blue Origin
[D] SpaceX

32.Which technology company has launched ‘Creator

education programme’ in India?

[A] Amazon
[B] Facebook
[C] Microsoft
[D] Google

33.The Nobel Prize for Chemistry 2021 has been
awarded for developing a new way for building

molecules known as?

[A] Asymmetric organocatalysis
[B] Altered DNAs

[C] Altered mRNAs

[D] None of these

34.What is the name of NASA’s robotic spacecraft,
launched to reach Jupiter’s asteroids, named the

Trojans?

[A] Lucy

[B] Lucky

[C] Layman

[D] Craft-hopper

35.Which company recently launched a new server
chip that’s based on advanced S5-nanometer

technology in China?

[A] Apple
[B] Alibaba
[C] Intel
[D] AMD

36.What is the name of skill development program for

Engineering Students, launched by Intel in India?

[A] Intel India

[B] Intel Nxt Gen

[C] Atmanirbhar Intel
[D] Intel Unnati

37.Which company has launched new smaller dish to

connect with satellites in low Earth orbit?

[A] Blue Origin
[B] SpaceX

[C] Virgin Galactic
[D] NASA

38.Prichal, which arrived at the International Space

Station, is a docking module of which country?

[A] USA

[B] Japan
[C] Russia
[D] Germany
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39.‘Log4j vulnerability’, which was seen in the news,

is associated with which field?

A] Environment
] Cyber-security

[
(B

[C] Artificial Intelligence
[D] Virology

40.With reference to SARS-CoV-2, what is a

‘Bubbler’ which was seen in the news?

A] Breathalyzer
B] Oral Vaccine
C

[
[
[C] Child Vaccine

[D] Single-shot vaccine

41.Trace Gas Orbiter (TGO) was launched to analyse

the atmosphere of which planet?
[A] Venus

[B] Mars

[C] Jupiter

[D] Saturn

42.INSACOG is the forum set up by which country to
monitor genome sequencing and variation of Covid

strains?
[A] USA
[B] Russia
[C] India
[D] UK

43.Which is the parent company of GitHub, an open-

source software developer, which was seen in the news

recently?

[A] Google
[B] Twitter
[C] Microsoft
[D] Meta

44.Which country is the first to successfully conduct a

human heart transplant from a genetically modified

pig?

[A] China
[B] Russia
[C] USA
[D] UK

45.Western disturbance, which was seen in the news

recently, is associated with?
[A] Culture

[B] Meteorology

[C] Economy

[D] Politics

46.Which country has built an ‘Artificial Moon’

project?
[A] USA [B] China
[C] Russia [D] Israel

47.As per law suits filed across the USA, which
company is alleged to have tracked the location data,

without user permissions?
[A] Microsoft [B] Google

[C] Facebook [D] Huawei
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48.‘Porphyrins’ are special molecules found in which

shape?
[A] Linear [B] Ring
[C] Triangle [D] Cubical

49.Which country leads the ‘Giant Magellan
Telescope (GMT)’ project?

[A] USA [B] Russia
[C] China [D] Australia

50.‘Space Applications Centre and Physical Research

Laboratory’ function under the aegis of which

institution?
[A] DRDO [B] ISRO
[C] CSIR [D] BARC

51.Deficiency of Vitamin D causes?

[A] Rickets

[B] Night blindness

[C] Goitre

[D] None of the above

52.Which among the following Vitamins helps in
clotting of Blood?

[A] Vitamin C
[B] Vitamin D
[C] Vitamin E
[D] Vitamin K

53.Which among the following is not present in pure

sugar ?

[A] Carbon
[B] Hydrogen

[C] Nitrogen
[D] Oxygen

54.In which of the following light produces image

focus in front of the retina?

[A] Presbyopia
[B] Myopia

[C] Hyperopia
[D] Hypertropia

55.Daltonism is the name referred to which of the
following disorders as this name was kept in honour

of John Dalton , the father of atomic theory?

[A] Deafness

[B] Color Blindness
[C] Night Blindness
[D] Astigmatism

56.Vitamin A, D & C are respectively called as

?

[A] Retinol, Ascorbic Acid, Calciferol
[B] Retinol, Calciferol, Ascorbic Acid
[C] Pyridoxal. Calciferol. Ascorbic Acid
[D] Ascorbic Acid, Pyridoxal. Calciferol

57.Sugar , Amino Acids, & Nucleotides are

constituents of respectively ?

[A] Polysaccharides, Proteins. Nucleic Acids,
[B] Proteins, Carbohydrates , Fats

[C] Nucleic Acids. Proteins, Polysaccharides
[D] Polysaccharides, Nucleic Acids. Proteins,

58.Lac is the scarlet resinous secretion from

?

[A] Herbs [B] Trees
[C] Bark [D] insects
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59.Which among the following plays a role in

production of alcohol in bear ?

[A] Bacteria

[B] Protozoan

[C] virus

[D] Yeast

60.Which among the following is aromatic dried

flower buds of a tree ?

[A] Black pepper

[B] Clove

[C] Cumin

[D] none of the above

61.What is the secret code written in the parachute of

the NASA’s Perseverance rover?

[A] Hello Red Planet

[B] Perseverance

[C] Dare Mighty Things

[D] Journey to Mars

62.Which technology company has launched “Women

Will’ web platform in India?

A] Amazon

C] Microsoft

[

[B] Google
[

[D] IBM

63.Scientists of which organisation have developed
indigenous High Electron Mobility Transistor
(HEMTs)?

A] IIT Bombay
] IIT Madras

] lISc Bangalore

[
(B
[C
[D] DRDO

64.As per a recent study, the heat waves occurring in

India is due to the warming up of which region?

[A] Arctic Region
[B] Antarctic Region
[C] Pacific Ocean
[D] Indian Ocean

65.°COVIRAP’ technology has been developed by

which institute?

[A] ATIMS

[B] MIT

[C] IT Kharagpur
[D] NIT Trichy

66.The Union health ministry advised which position

to be used by the Covid patients for better breathing?

[A] Prone position
[B] Supine position
[C] Fetal position

[D] Recovery position

67.What is the name of the neutron star with mass of
at least 1.4 times that of our Sun, which spins rapidly

and emits radio waves?

[A] Meteor
[C] Pulsar

[B] Comet
[D] Asteroid

68.What is the main purpose of using Cryogenic

cylinders to carry liquid medical oxygen?

[A] To transport Oxygen at low temperatures
[B] To transport Oxygen at high temperatures
[C] To transport Oxygen at low pressure

[D] To transport Oxygen at high pressure
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69.Falcon 9 rocket is used by which space agency?

[A] NASA

[B] Space X

[C]ISRO

[D] ESA

70.Oxycare system has been developed by which

organisation?

[A] AIIMS

[B] DRDO

[C] ISRO

[D] SII

71.Which among following is also known as white

gold?

[A] Nickel
[C] Platinum

[B] Rhodium
[D] Palladium

72.Which among the following diseases is also known

as “Pink Eye”?

A] Conjunctivitis

[

[B] Myopia
[C] Astigmatism
[

D] Presbyopia
73.A gene is a functional unit of __ ?

[A] Life [B] Cell

[C] DNA [D] Chromosomes

74.Which part of the plant Raphanus sativus is edible?

[A] Fruit
[B] Leaves

[C] Roots

[D] All the above

75.What name has been given to the fear of crossing

roads?

[A] Arthrophobia
[B] Atychiphobia
[C] Aichmophobia
[D] Agyrophobia

76.A combination of several medicines called SHREZ
is used in the treatment of which among the following

diseases?

[A] HIV/ AIDS
[B] Diphtheria
[C] Tuberculosis
[D] Malaria

77.How does calcium carbide ripen mangoes?

[A] It reacts with moisture and releases Ethylene

[B] It reacts with moisture and releases Acetaldehyde,
which in turn releases ethylene

[C] It reacts with starch and releases Acetylene

[D] It reacts with moisture and releases Ethyne
78.In higher plants, the Secondary Growth refers to:
1. Development of flowers and fruits

2. Development of new branches after the plant

starts flowering

3. Formation of secondary tissues by the activity of

lateral meristem
Choose the correct option from the codes given below:

[A]Only 1 &2
[C] Only 3

[B]Only 2 & 3
[D]1,2&3
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79.Which among the following makes the peepal tree

release oxygen all the time?

[A] C3 Photosynthesis

[B] C4 Photosynthesis

[C] Crassulacean Acid Metabolism

[D] Carbon cycle re-balancing

80.The radiations used in Radiotherapy for the

treatment of Cancer destroys the Cancer tumour

mainly by which among the following?

[A] Destroying the Cytoplasm of the Cancerous Cells
[B] Destroying the Cell membranes of the Cancerous
Cells

[C] Destroying the DNA of the Cancerous Cells

[D] Destroying the spindle fibres which are used in Cell

Division
81.Which among the following is a Noble Gas?

[A] Nitrogen

[B] Hydrogen

[C] Oxygen

[D] Helium

82.Which among the following is an example of a

Chemical Change?

A] Rusting of iron
] Magnetisation of iron

[
(B
[C] Melting of iron
[D] Heating of iron

83.Which among the following are constituents of

Brass?

A] Zinc and Copper

[

[B] Iron and Zinc
[C] Copper and Nickel
[

D] Iron and Copper

84.Which compound of mercury is used as antiseptic?

[A] Mercuric sulphide
[B] Mercuric oxide
[C] Mercuric chloride
[D] Mercuric iodide

85.Which of the following is an anti-knocking
compound that has been phased out in many countries

so far?

[A] Lead tetrachloride
[B] Tetra Ethyl Lead
[C] Ethyl acetate

[D] None of the above

86.Which among the following minerals is also known

as Horn Silver?

[A] Silver Iodide

[B] Silver Chroride
[C] Zinc Phosphate
[D] Silver Sulphide

87.The alloy steel containing chromium to resist
rusting is known as stainless steel. What is played by

Chromium in stainless steel?

1. Chromium does not rust, so it works as

protecting cover

2. Chromium reacts with Iron to make a compound

that is not affected by Oxygen
Select the correct option from the codes given below:

[A] Only 1

[B] Only 2
[C]Both 1 &2

[D] Neither 1 nor 2
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88.Which of the following are used as chemical agents

in war?

1. Mustard Gas

2. Phosgene
3. Sarin
4. VX

Select the correct option from codes given below:

[A]1 & 3 Only
[B] 1,3 & 4 Only
[C] 2 & 4 Only
[D]1,2,3&4

89. Consider the following differences between Soaps

and Detergents:

1. Detergents are carbonic compounds which are

not alkaline, Soap are made from fat and alkali

2. Soaps are biodegradable while detergents are not

biodegradable
Which of the above statements is/are correct?
[A] 1 Only

[B] 2 Only
[C] Both 1 &2

[D] Neither 1 nor 2

90.Which of the following states of matter has the

weakest Intermolecular forces?

[A] Solids
[C] Gases

liquids and gases

[B] Liquids

[D] It is same in solids,

91.Which of these phenomenon is due to the scattering

of light?

[A] blue colour of sky

[B] reddening of the Sun at sunrise
[C] reddening of the Sun at sunset
[D] All of the above

92.Which of the following eye-defects is also known as

far -sightedness?

[A] Myopia

[B] Hyper-metropia
[C] Cataract

[D] None

93.Which of the following part of eyes controls the size
of the pupil?

[A] Retina

[B] iris

[C] Cornea

[D] None of the above

94.What is current density?

[A] Current per unit volume
[B] Current per unit area
[C] Charge per unit area
[D] None of the above

95.What do we call a cell that induces a spontaneous

redox reaction to create a flow of electrical charges?

[A] Voltaic cell

[B] Electrolytic cell

[C] Such cells don’t exist
[D] None of the above
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96.Which of the following metals are commonly used

as inert electrodes?

[A] Platinum

[B] Carbon

[C] Mercury

[D] All of the above

97.Which of the following is correct about EMF of a

cell?

[A] it is the potential difference between the electrodes

when current is flowing in the cell

[B] it is the drift velocity of the electrons when there is no

current in the cell

[C] it is the potential difference between the electrodes
when there is no current in the cell

[D] None of the above

98.Which of the following gives us the mass number of

an atom?

[A] total number of electrons
[B] total number of neutrons
[C] total number of nucleons
[

D] None of the above

99.Which of the following represents the angular
momentum of an electron as per Bohr’s model (h=

Planck’s constant)?

[A] h/TT
[B] nh/2TT
[C] 2Ttnh
[D] Ttnh

100.In which of these transistors, the two segments of
n-type semiconductor are separated by a segment of

p-type semiconductor?

[A] p-n-p transistor
[B] n-p-n transistor
[C] Both a and b
[D] None
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